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Analysis #1 questions  

(answer these questions on a separate piece of paper)

1)  What type of distribution do you see on the island and why did you choose it?  Explain your answer.















(3 Marks)
2)   After a few weeks being there you realize that there is an indigenous population on the island (Native people).  They are living deep in the forests and there are over 1,000 of them.  Explain how you would handle ownership of the land, leadership, the rights to resources on the island, the differences in culture (language, food, religion, etc.) and relations (are you going to accept them, try to assimilate them into your society, etc) with the indigenous people.  But, neither group can leave the island, so you must come up with a solution. Chapter 17 of your textbook may help you here and provide explanations for your plan.












(4 Marks)
3)   After 5 years this is what the population statistics were.  Calculate the PGR on the island based on the following numbers for 2015.  Provide a rationale for your numbers. 




Population: 12,000




Births: 450





Immigration: 2,000




Deaths: 800





Emigration: 1,000








(5 Marks)
4)   Review the following population pyramid for Holmesland.  
How is this information useful for you as you begin to 
set-up your country and decide where you are going to 
invest taxpayer money in the future.  Explain fully. 














(3 Marks)
      5). Using the PGR data and the population pyramid provided (in #4), how are you, as the Leader of 

  Holmesland; going to handle immigration? Review all that you have learned about the immigration 
  process and the point system in Canada. Evaluate the point system from the perspective of the    

  government of Holmesland and identify whether or not the current system in Canada is beneficial system 
  for you to adopt for Holmesland. Write a persuasive paragraph that either state whether the Canadian  

  Immigration system will be employed in Holmesland or not, and then provide three points of proof to 

  support this idea. You may want to consider the following questions before you prepare your response: 
  What are the benefits/drawbacks of only accepting certain types of immigrants? What are the potential 
  economic and social consequences of only accepting independent skilled workers who pass the point 
  system? You must support your response with evidence from class. You must answer using proper 
  paragraph structure (introduction, body, conclusion) and your response must be a typed, double-
  spaced, 12pt. font and you must include concrete evidence (examples from the point system, class 
  notes and activities) to support your response.






(10 Marks)
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